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Question Number : 1 Question Id : 68019111594 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

How many elements have been accepted by the Carvakas as the basic constituents of the

Universe?

1. One
2. Two
. Four
4, Five
Options :

T

68019145701. 1
68019145702. 2
68019145703. 3

68019145704. 4

Question Number : 1 Question Id : 68019111594 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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F1aid] 4 8IS & o Ucdl & &9 H [ dal &l [IBR f6har 82
1
2.al
3
4.1
Options :
68019145701, 1
68019145702 2

68019145703. 3

68019145704. 4

Question Number : 2 Question Id : 68019111595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"The soul 1s nothing but the conscious body." Which school of Indian philosophy propounds this
idea?

1. Carvaka
2. Yoga

3. Vedanta
4. Jama

Options :

68019145705. 1
68019145706. 2
68019145707. 3

68019145708. 4

Question Number : 2 Question Id : 68019111595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. TGP
2.1
3.440d
4,07

Options :

68019145705. 1
68019145706. 2
68019145707. 3

68019145708. 4

Question Number : 3 Question Id : 68019111596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to which school of Indian Philosophy consciousness 1s NOT an essential property of
Atman?

1. Jaina

2. Nyaya

3. Advaita Vedanta

4, Visistadvaita Vedanta

Options:

680191457009. 1
68019145710. 2
68019145711.3

68019145712. 4

Question Number : 3 Question Id : 68019111596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1.5

2. 419

o % )

4. fafRiyTgd dgid
Options :
68019145709. 1
68019145710. 2
68019145711. 3

68019145712. 4

Question Number : 4 Question Id : 68019111597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |Hota'Hotri L |Rg
B. |Udgata'Udgatri 1L | Yajur
C. |Adhvariu III |Sama
D. |Brahma/Brahman IV |Atharva

Choose the correct answer from the options given below:

(A) - (IV).(B) - (II). (C) - (IIT). (D) - (I)
. (A) - (). (B) - (IIT). (C) - (II). (D) - (IV)
- (A) - (). (B) - (II). (C) - (IV). (D) - (I1I)
- (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

fag B2 —

i

Options :

68019145713. 1
68019145714. 2
68019145715.3

68019145716. 4

Question Number : 4 Question Id : 68019111597 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T 11 =i 11 1 i Siforg
T 1 g 1
A |gEEE L |37
B. [SEMAISEIH| IL [T9R
C. |sreag 1L |9H
D. [senem IV, | 3rd
1 feu e fosedl § 9 981 SR I |

L. (A)-(IV). (B)-(II). (C)~(IIT). (D)~(1)
2. (A)-(I). (B)-(II). (C)~(II). (D)-(IV)
3. (A)-(I), (B)-(II). (C)-(IV). (D)-(III)
4. (A)-(ITT). (B)-(IV). (C)-(I). (D)-(II)

Options:

68019145713. 1
68019145714. 2
68019145715.3

68019145716. 4

Question Number : 5 Question Id : 68019111598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are NOT anastikaya dravvas
(A) Pudgala (Matter)

(B) Akasa (Space)

(C) Kala (Time)

(D) Dharma and Adharma (Motion and Rest)

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

e N

Options :



68019145717.1
68019145718. 2
68019145719. 3

68019145720. 4

Question Number : 5 Question Id : 68019111598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FrfafEd § sF sAfkea s T8 §
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(B) 3TBTR (3Hlee
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1. %ad (A). (B) 3R (D)
2. 3qd (A). (B) R (C)
3. (A), (B), (C) 3R (D)

4.%dd (B). (C) AR (D)

Options :

68019145717. 1
68019145718. 2
68019145719. 3

68019145720. 4

Question Number : 6 Question Id : 68019111599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How may tanmatras have been accepted by the Samkhya School of Classical Indian
Philosophy?

. One
. Three
3. Five
4. Seven

d =

Options :

68019145721. 1
68019145722. 2
68019145723.3

68019145724. 4

Question Number : 6 Question Id : 68019111599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

QRE YR &% § 9iked 0d gRI a1 a=msd & Wier fear marg?

1. U

2.4

3.4

4. HId
Options :
68019145721. 1
68019145722. 2
68019145723. 3

68019145724. 4

Question Number : 7 Question Id : 68019111600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many Dravyas have been accepted by the Jainas?

. One
. Five
. Beven
4. Nine

Options :

| I

L]

68019145725. 1
68019145726. 2
68019145727. 3

68019145728. 4

Question Number : 7 Question Id : 68019111600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o1 gRT fhd gobl &1 WieR &g /™ 82

1. 7%
.99
3. 90
4.7

Options:

68019145725. 1
68019145726. 2
68019145727. 3

68019145728. 4

Question Number : 8 Question Id : 68019111601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |Mimamsa Sutra I |Jaimini
BE. |Brahma Sutra II. |Badaravana
C. |Samkhya Karika III. | Gautama
D. |WNyaya Sutra IV, |1évara Krzna

Choose the correcr answer from the options given below:

1. (A) - (I). (B) - (II). (C) - (IT). (D) - (IV)
2. (A) - (I). (B) - (IT). (C) - (II). (D) - (IV)
3. (A)-(I). (B) - (IT). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019145729. 1
68019145730. 2
68019145731. 3

68019145732. 4

Question Number : 8 Question Id : 68019111601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1 1 1 1 11 ¥ e Sifeu
g1 T

A |HEETTI 1 [

B |ge1 g I |STexro

C. [d=a @iy | 1L [iaH

D. [Fma g IV, [S9R W

- feu e fgeedl & ¥ Het SR A |

L. (A)-(I). (B)~(II). (C)-(I1I). (D)~(IV)
2. (A)-(I). (B)-(III). (C)~(II). (D)-(IV)
3. (A)-(I). (B)-(II). (C)-(IV). (D)-(III)
4. (A)-(ITI). (B)-(IV). (C)-(1). (D)-(II)

Options:

68019145729. 1



68019145730. 2
68019145731. 3

68019145732. 4

Question Number : 9 Question Id : 68019111602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the Vedantasara. the sub-sects of Carvakas identify the Self with:
(A) The Gross Body (Sthula sarira)

(B) The Sense-Organs (Indriva)

(C) The Vital-Breath (Prana)

(D) The Mental Organ (Manas)

Choose the correct answer trom the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
(A). (B). (C) and (D).
4. (B). (C) and (D) only.

L]

Options:

68019145733. 1
68019145734. 2
68019145735. 3
68019145736. 4

Question Number : 9 Question Id : 68019111602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. %ad (A). (B) 3R (D)
2.%ad (A). (B) 3R (C)
3.(A). (B). (C) 3R (D)

4. %ad (B). (C), 3R (D)

Options :

68019145733. 1
68019145734. 2
68019145735. 3

68019145736. 4

Question Number : 10 Question Id : 68019111603 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The correct sequence found in the Causal Wheel of Dependent Origination (Dwadasa Nidana)
1:

(A) Vedana

(B) Trsna

(C) Upadana

(D) Bhava

Choose the correct answer from the options given below:

Options:

68019145737. 1
68019145738. 2
68019145739. 3

68019145740. 4



Question Number : 10 Question Id : 68019111603 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(C) UIGH
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. (A). (B). (C). (D).
.(A). (Q). (B). (D).
_(A). (D). (B). (C).
4.(C). (B). (D). (A).

|

L)

Options :

68019145737. 1
68019145738. 2
68019145739. 3

68019145740. 4

Question Number : 11 Question Id : 68019111604 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following Vedas are included in the 'Vedatray1'?

A Rg

B. Sama
C. Yajur
D. Atharva

Choose the correct answer from the options given below :

1. A. B and D only
2. A.Cand D only
3. A.B and C only
4. B. C and D only



Options :

68019145741. 1
68019145742, 2
68019145743.3
68019145744. 4

Question Number : 11 Question Id : 68019111604 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ezt B FafaRad § 4 o1 4 de | 82

A BT
B. 9
C. 4R
D. 31yd
A feu e fosedl § 9 gl SuR I |

1. HATA. B IIRD
2. FIAA. CARD
3. HAAA. B AR C
4. HJA B, C AR D

Options :

68019145741. 1
68019145742. 2
68019145743.3

68019145744. 4

Question Number : 12 Question Id : 68019111605 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among the following philosophers believed that Self 1s nothing but a bundle of
impressions?

. Derek Parfit
. David Hume
. Plotinus

4. Cicero

| S

[ %]

Options :

68019145745. 1
68019145746. 2
68019145747.3
68019145748. 4

Question Number : 12 Question Id : 68019111605 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
Fafafad argiie] o 9 fdwe! a1 o fhael $9 ofR 78 3ifUq SERI &1 0P I15 37

1. 31 URMe
2. slds ggm
3. @iy

4. R

Options :

68019145745. 1
68019145746. 2
68019145747.3

68019145748. 4

Question Number : 13 Question Id : 68019111606 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange Aristotle’s four types of causes mn luerarchy from lower to the highest form.
(A) Formal cause

(B) Material cause

(C) Efficient cause

(D) Final cause

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (A), (D). (C). (B).
B). (A). (D). (C).
B). (A). (C). (D).

3:
4.

— — — —

Options :

68019145749. 1
68019145750. 2
68019145751.3
68019145752. 4

Question Number : 13 Question Id : 68019111606 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I P IR YHR & HRUN oI U H H (9 H F=IdH &9 H HaYd P
(A) STHIRD BRU]

(B) HITd® BRI

(C) At &R
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1. (A). (B). (C). (D).
2. (A). (D), (C). (B).
3. (B). (A). (D). (C).
4. (B). (A), (C). (D).

Options :

68019145749. 1
68019145750. 2
68019145751.3
68019145752. 4



Question Number : 14 Question Id : 68019111607 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following wrote., Critigue of Dialectical Reason?

1. Hegel

2. Sartre

3. Karl Marx
4. David Hume

Options:

68019145753. 1
68019145754. 2
68019145755. 3
68019145756. 4

Question Number : 14 Question Id : 68019111607 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
rgfefaa o S foms ee 3Te sgdidcsa du- ol B2

1. 870
2.9

3. PTel Ao
4. SfdsggH

Options :

68019145753. 1
68019145754. 2
68019145755. 3
68019145756. 4

Question Number : 15 Question Id : 68019111608 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |Mind-body interactionism I. |Spinoza
B. |Mind-body parallelism II. |Parfit
C. |Windowless monads III. |Descartes
D. |Stream of psvcho-physical events | [V, |[Leibniz

Choose the correct answer from the options given below:

1. (A) - (I). (B) - (II). (C) - (IIT). (D) - (IV)
2. (A) - (IT). (B) - (D). (C) - (I). (D) - (IV)
3.(A) - (I, (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019145757. 1
68019145758. 2
68019145759. 3
68019145760. 4

Question Number : 15 Question Id : 68019111608 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 1 1 Al 11 ¥ e Sifee

Geill T I
A |99-=RR siafmarefaar | @ |RoAmn
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D |9A1-Yifd® ge1si @1 vare| IV, |[arfas
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L. (A)-(I). (B)-(II). (C)-(I1I). (D)~(IV)
2. (A)-(II). (B)-(III). (C)~(I). (D)-(IV)
3. (A)-(IID). (B)-(I). (C)~(IV). (D)-(II)
4. (A)-(ITT). (B)-(IV). (C)-(I). (D)-(II)

Options:



68019145757. 1
68019145758. 2
68019145759. 3

68019145760. 4

Question Number : 16 Question Id : 68019111609 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II

LISTI LISTII
A |Knowledge through perception [. |Descartes
B. |Knowledge through reasoning with sceptic stance| II. |Bradley
C. |Knowledge through critical reasoning III. |Locke
D. |Knowledge through intuition IV, |[Kant

Choose the correct answer from the options given below:

1. (A) - (III). (B) - (I). (C) - (IV). (D) - (II)
2.(A)-(I). (B) - (ITT). (C) - (IT). (D) - (IV)
3.(A)-(D.(B)- (D). (C) - (IV). (D) - (IIT)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019145761. 1
68019145762. 2
68019145763. 3

68019145764. 4

Question Number : 16 Question Id : 68019111609 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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L. (A) - (IIT). (B) - (I). (C) - (IV), (D) - (II)
. (A) - (I). (B) - (IIT). (C) - (IT). (D) - (IV)
(A)- (D). (B) - (I). (C) - (IV). (D) - (III)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

| )

L]

Options :

68019145761. 1
68019145762. 2
68019145763. 3

68019145764. 4

Question Number : 17 Question Id : 68019111610 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |One Pramana [. |Carvaka
B. |Two Pramana II. |Samkhva
C. |Three Pramana [11. |Buddhism
D. |Six Pramana IV |Vedanta

Choose the correct answer from the options given below:

1. (A) - (I). (B) - (II). (C) - (IIT). (D) - (IV)
2.(A) - (I). (B) - (IT). (C) - (II). (D) - (IV)
3.(A)-(1). (B) - (IT). (C) - (IV). (D) - (II)
4. (A) - (). (B) - (AV). (C) - (I). (D) - (II)

Options :



68019145765. 1
68019145766. 2
68019145767. 3

68019145768. 4

Question Number : 17 Question Id : 68019111610 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 1 1 i 11 ¥ e Sifeu
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C. | A 111 |95 g2H
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1. (A) - (). (B) - (II). (C) - (III). (D) - (IV)
. (A) - (). (B) - (IIT). (C) - (IT). (D) - (IV)
- (A) - (). (B) - (). (C) - (IV). (D) - (III)
- (A) - (II). (B) - (IV). (C) - (D). (D) - (II)

faa B2

ey

Options :

68019145765. 1
68019145766. 2
68019145767.3

68019145768. 4

Question Number : 18 Question Id : 68019111611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"Consciousness 18 structurally intentional. It 15 always consciousness of something (object of
knowledge)." Whose 1dea is represented in the above statement?

1. Husserl

2. Descartes

3. A. N. Whitehead
4. Aristotle

Options :

68019145769. 1
68019145770. 2
68019145771.3

68019145772. 4

Question Number : 18 Question Id : 68019111611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T HBIRSD U Y FIHWIID Bl 5. I6 Fad (b4l fqwa/aeq 1 < gl &. T8 DU
o foaR® P SR &1 Hfafd B 82

1. g
2. 3T
3.0 T §l5ce3
4. I

Options :

68019145769. 1
68019145770. 2
68019145771. 3

68019145772. 4

Question Number : 19 Question Id : 68019111612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In Buddhist Philosophy. the knowledge gained from the words of Buddha 15 treated as valid
knowledge within the category of:

1. Pratyaksa
2. Anumana
3. Sabda

4. Upamana

Options:

68019145773. 1
68019145774. 2
68019145775.3
68019145776. 4

Question Number : 19 Question Id : 68019111612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

81G a¥ B, TG & Usal 3§ Wl I 3l o5 @ife & iR U 0o I & w9 3 feran o &:

1. Ucdg

2. 3{HIH

3. g

4. 34HH
Options :
68019145773. 1
68019145774. 2
68019145775. 3

68019145776. 4

Question Number : 20 Question Id : 68019111613 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The flow of karmic particles towards the soul in Jaina ethics 1s called as:

1. Nirjara
2. Bandha
3. Samvara
4. Asrava

Options :

68019145777. 1
68019145778. 2
68019145779. 3

68019145780. 4

Question Number : 20 Question Id : 68019111613 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O IR & 3T S 3R HIfe S0l & Udlg & Hed o:

EERY
gy
qax
4. AHEd
Options:

fag B2 —

68019145777.1
68019145778. 2
68019145779. 3

68019145780. 4

Question Number : 21 Question Id : 68019111614 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Anupalabdhi 1s treated as an independent pramana by:

1. Prabhakara
2. Gautama
. Kumarila
4. Nagarjuna

%]

Options :

68019145781. 1
68019145782. 2
68019145783. 3

68019145784. 4

Question Number : 21 Question Id : 68019111614 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YAl P frdds gRT U W W10 & =9 & JH1 741 82

1. gHTER
UG

Options :

| ()

Tad

68019145781. 1
68019145782. 2
68019145783. 3

68019145784. 4

Question Number : 22 Question Id : 68019111615 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following pramanas are accepted by Ramanuja?
(A) Comparison

(B) Perception

(C) Inference

(D) Verbal Testimony

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019145785. 1
68019145786. 2
68019145787.3

68019145788. 4

Question Number : 22 Question Id : 68019111615 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafaiad § 9 - 9 90 IEHS gR1WieR e U g2
(A) SUHF

(B) W&

(C) SFHIH

(D) T3

- fau e faeedl § 9§ @81 SR I |

1. 4d (A), (B) 3R (D)
2.%ad (A). (B) 3R (C)
3. (A), (B). (C) 3R (D)

4. %4d (B). (C) 3R (D)

Options :

68019145785. 1
68019145786. 2
68019145787.3

68019145788. 4



Question Number : 23 Question Id : 68019111616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following pramana is NOT accepted by Madhvacarya?

1. Perception

2. Inference

3. Verbal Testimony
4. Comparison

Options :

68019145789. 1
68019145790. 2
68019145791. 3

68019145792. 4

Question Number : 23 Question Id : 68019111616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fAafefad o 9 & 91 U 9EE gR1 MR ol (a1 47 82

1. Uce
2. AHH
3. Usq
4. 3YHIH
Options :

68019145789. 1
68019145790. 2
68019145791. 3

68019145792. 4

Question Number : 24 Question Id : 68019111617 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

The "Purusa Sukta’ one of the hymns on creation, is contained in which Veda?

. Sama Veda

. Yajur Veda
3. Rg Veda

4, Atharva Veda

Options :

I =

68019145793. 1
68019145794. 2
68019145795. 3

68019145796. 4

Question Number : 24 Question Id : 68019111617 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Yo TR TR Yol & T U g3y e fod aa 5 82
1. qrHdg
2. 994
3. 367G
4. 3Yddg

Options :

68019145793. 1
68019145794. 2
68019145795. 3
68019145796. 4

Question Number : 25 Question Id : 68019111618 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which school of philosophy states that i order to have proper knowledge there are bound to be
some basic beliefs that have a positive epistemic status?

1. Foundationalism
2. Unmiversalism

3. Coherentism

4. Rationalism

Options :

68019145797. 1
68019145798. 2
68019145799. 3
68019145800. 4

Question Number : 25 Question Id : 68019111618 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&8 1 B 91 Hd Sedl o (& 31 FH WG B & [T T Hifcrds Trganadi &1 g1 ik
¢ oM@ U9 IHRIAS FHHIH-IY WY 67

-
;Wﬁﬁ
4. §igdg

Options :

68019145797. 1
68019145798. 2
68019145799. 3
68019145800. 4

Question Number : 26 Question Id : 68019111619 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which school of philosophy states that for a belief to be justified (to be called knowledge) it
must belong to a systematic set of beliefs?

1. Foundationalism

2. Phenomenalism

3. Epiphenomenalism
4. Coherentism

Options :

68019145801. 1
68019145802. 2
68019145803. 3

68019145804. 4

Question Number : 26 Question Id : 68019111619 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P 1 3% Hedl § (& [ [y & yaIit 89 & U @F wgan & o) 39 fayr
Pl T TG JomTel! & Feiftd g1 gl =ifew?

1%%13

2. afdarg

3. JUIIEaT

4. HY4ddldIg
Options :

68019145801. 1
68019145802. 2
68019145803. 3

68019145804. 4

Question Number : 27 Question Id : 68019111620 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s the name of the philosophical counterpoint which argues that mspite of fulfilling all the
three conditions of 'Tustified True Belief', we cannot guarantee a proper and correct knowledge?

1. Category mistake

2. Gettier problem

3. Heisenberg problem
4. Soplue's puzzle

Options:

68019145805. 1
68019145806. 2
68019145807. 3
68019145808. 4

Question Number : 27 Question Id : 68019111620 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I ST iiaTg &1 - T1°% Wl 7% adl & 1o =i e fayry i ol 9l ol g
P o A1a9G, BH U9 S19d SR Fel I B1 IR 7ol & Hbd 62

1. BN

2. TifeTR guHE]

3, GIgoHaT gae
4. TPl B Teferm!

Options:

68019145805. 1
68019145806. 2
68019145807. 3

68019145808. 4

Question Number : 28 Question Id : 68019111621 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Name the philosopher who extensively discussed the difference between 'knowing how' and
'knowing that'.

1. Anthony Kenny
2. P. F. Strawson
3. Jean-Paul Sartre
4. Gilbert Ryle

Options :

68019145809. 1
68019145810. 2
68019145811. 3
68019145812. 4

Question Number : 28 Question Id : 68019111621 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 GRS I A1H TS o 3 B (A7 813 3R I 98 (1571 &2) $ &9 & i
R 9D =4 Y fgdg-r @l |

1. WA &l

2. 0 0%, WA
3. SOTd 9
4. fread IEd

Options :

68019145809. 1
68019145810. 2
68019145811.3

68019145812. 4

Question Number : 29 Question Id : 68019111622 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"Knowledge 1s not possible." Which school of philosophy propounds this view?

1. Scepticism

2. Anti-foundationalism
3. Contextualism

4. Perspectivism

Options :

68019145813. 1
68019145814. 2
68019145815. 3

68019145816. 4

Question Number : 29 Question Id : 68019111622 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

" JF HHT 81 8 1" DIF 1 &R 39 EFHI0] BT Widare &rdl 82

1. IREdIG

2. gayddrg fazieh

3. IR drarg

4. GRYUEIAIS
Options :
68019145813. 1
68019145814. 2
68019145815. 3

68019145816. 4

Question Number : 30 Question Id : 68019111623 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1I LISTIT
A |Coherence theory of truth I |Pierce
B. |Correspondence theory of truth| II. |Dummett
C. |Pragmatic theory of truth III. | Tarski
D. |Semantic theory of truth IV. | Aristotle

Choose the correcr answer from the options given below:

1. (A) - (1), (B) - (I). (C) - (IIT), (D) - (IV)
2. (A) - (I). (B) - (IlT). (C) - (II). (D) - (IV)
3. (A) - (11). (B) - (IV). (C) - (1). (D) - (III)
4. (A) - (II). (B) - (IV). (C) - (III). (D) - (I)

Options :

68019145817. 1
68019145818. 2
68019145819. 3

68019145820. 4

Question Number : 30 Question Id : 68019111623 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

el 1 T T 11 ¥ FaH Sy

T I =
A |9 &1 99adal fasid I |food
B. [va @1 Yaifedr fasia 1L |gHe
C. |9 @1 wEeRed feid | 1L |ade!
D. (¥ o1 wreard-fawae fEgid| Iv. [srRE
- fau Y fgeedl O 9 |8t SR I |

1. (A) - (). (B) - (II). (C) - (III). (D) - (IV)
2.(A)-(1). (B) - (). (C) - (II). (D) - (IV)
3.(A)- (D). (B) - (IV). (C) - (D). (D) - (II)
4. (A) - (D). (B) - V). (C) - (IIT). (D) - (I)

Options :



68019145817. 1
68019145818. 2
68019145819. 3

68019145820. 4

Question Number : 31 Question Id : 68019111624 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following concepts deals with the problem of cessation of life?
(A) Surrogacy

(B) Abortion

(C) Euthanasia

(D) Capital punishment

Choose the correcr answer from the options given below:

. (A). (B) and (D) only.
. (A). (B) and (C) only.
_(A). (B). (C) and (D).
4. (B). (C) and (D) only.

o =

Taa

Options :

68019145821. 1
68019145822. 2
68019145823. 3

68019145824. 4

Question Number : 31 Question Id : 68019111624 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafefad o 9 o St IaURUT Siad & I &1 9T 9 Gafid g2

(A) T
(B) THUTG
(C) SO
(D) Hdas

-9 feu e fdeedl O 9 98t SR I |

1. %ad (A), (B) 3R (D)
2.%ad (A). (B) 3R (C)
3. (A). (B). (C) 3R (D)

4.%dd (B). (C) AR (D)

Options :

68019145821. 1
68019145822. 2
68019145823. 3

68019145824. 4

Question Number : 32 Question Id : 68019111625 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I wath List IT

LISTI LISTII
A |Deontology I |Aristotle
B. |Emotivism II. |[Kant
C. |Consequentialism III. |Stevenson
D. |Virtue Ethics IV. |[Bentham

Choose the correct answer from the options given below:

1. (A) - (I). (B) - (II). (C) - (III). (D) - (IV)
2.(A) - (IT). (B) - (). (C) - (IV). (D) - (I)
3.(A) - (IT). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (III). (B) - (IV). (C) - (D). (D) - (II)

Options :
68019145825. 1
68019145826. 2



68019145827. 3

68019145828. 4

Question Number : 32 Question Id : 68019111625 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 151 gt 1 Y fHaE $ifern
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1. (A) - (). (B) - (II). (C) - (III). (D) - (IV)
2.(A) - (IT). (B) - (II). (C) - (IV). (D) - (I)
3.(A)- (). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (III). (B) - (AV). (C) - (I). (D) - (II)

Options :

68019145825. 1
68019145826. 2
68019145827. 3

68019145828. 4

Question Number : 33 Question Id : 68019111626 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to the Carvakas, which of the following purusarthas should be pursued together?
(A) Dharma

(B) Artha

(C) Kama

(D) Moksa

Choose the correct answer from the options given below:

4.

]
2
=

Options :

68019145829. 1
68019145830. 2
68019145831.3
68019145832. 4

Question Number : 33 Question Id : 68019111626 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Taiel & HTER, FafaRad ¥ 9 fo qourdi &1 s 91y ureH fogr & w1ige

(A) 4
B) 3
(C) BTH
(D) Hi&

=i feu e faeedl § § 9§l STR 94 |

1. (A) 3R (D)
2. (A) 3R ()
3.(B) 3R (D)
4.%ad (B) 3R (C)

Options:

68019145829. 1
68019145830. 2
68019145831. 3
68019145832. 4



Question Number : 34 Question Id : 68019111627 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the Advaita Vedanta School. perception of an illusory snake in a rope involves the
theory of:

1. Adhyasza
2. Smrt1

3. Viparyaya
4. Prama

Options:

68019145833. 1
68019145834. 2
68019145835. 3
68019145836. 4

Question Number : 34 Question Id : 68019111627 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hgd dard Rl & SI9R, U Ie] § Sfaraided 94 &1 Y&l JH dedldl o:

Options :

68019145833. 1
68019145834. 2
68019145835. 3

68019145836. 4

Question Number : 35 Question Id : 68019111628 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are included in the Pancamahavratas of Jainism?
(A) Dharma

(B) Satya

(C) Asteya

(D) Brahmacharya

Choose the correcr answer trom the options given below:

. (A). (B) and (D) only.
. (A). (B) and (C) only.
. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

I =

L]

Options :

68019145837. 1
68019145838. 2
68019145839. 3

68019145840. 4

Question Number : 35 Question Id : 68019111628 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad § 9 SiH-91 9 <=1 & d9gseal § afffed g2
(A) HH

-t feu T fosed! ¥ gt SR |

1. %4d (A), (B) 3R (D)

2.3qd (A), (B) AR (C)
3. (A). (B). (C) 3R (D)
4. %dd (B). (C) 3R (D)

Options :

68019145837. 1



68019145838. 2
68019145839. 3

68019145840. 4

Question Number : 36 Question Id : 68019111629 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Jainsim. the word 'nastika’ stands for one who does not believe in the -

1. Authority of God

2. Existence of Supernatural Beings
. Authority of the King

4. Authority of the Vedas

L]

Options :

68019145841. 1
68019145842. 2
68019145843. 3

68019145844. 4

Question Number : 36 Question Id : 68019111629 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oiH 2= H A1 Wss &1 v 399 o fear s g o fayg Tgf avd © -

1. 3R DI Il (MRHR) J
2. 3f@ifd® warsl & sffira d
3. ST D1 STl (WHYPR)
4. dgl B TIar (WEeR) J

Options :

68019145841. 1
68019145842. 2
68019145843. 3

68019145844. 4



Question Number : 37 Question Id : 68019111630 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST1 LISTII
A |Duhicha [. |There 1s cessation of Suffering
B. |Duhkha-samudaya II. |There 13 a way leading to cessation of Suffering
C. |Duhkha-nirodha ITI1. | There 15 Suffering
D. |Duhkha-nirodha-gamini-pratipat | IV. |There 15 a cavse of suffering

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (I, (C) - (IIT), (D) - (IV)
2. (A) - (II0). (B) - (D). (C) - (II). (D) - (IV)
3.(A) - (D). (B) - (ID). (C) - (IV). (D) - (III)
4. (A) - (TI0). (B) - (IV), (C) - (I). (D) - (II)

Options :

68019145845. 1
68019145846. 2
68019145847. 3

68019145848. 4

Question Number : 37 Question Id : 68019111630 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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L. (A) - (I}, (B) - (IL), (C) - (IIT), (D) - (IV)
2. (A) - III), (B) - (I). (C) - (II), (D) - (IV)
3. (A) - (I). (B) - (II). (C) - (IV). (D) - (IIT)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019145845. 1
68019145846. 2
68019145847. 3
68019145848. 4

Question Number : 38 Question Id : 68019111631 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following belong to the klesas recognised in the Yoga system of Philosophy?
(A) Asmita

(B) Raga

(C) Viparyvava

(D) Abhinivesa

Choose the correct answer from the options given below:

and (D) only.

A). (B)

A). (B) and (C) only.
A). (B). (C) and (D).
C)

A
¥
3.4
4. ( and (D) only.

(

(

(
B).(
Options :
68019145849. 1
68019145850. 2

68019145851. 3



68019145852. 4

Question Number : 38 Question Id : 68019111631 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad 8 9 &4 91 g 53F ond! 5 91 a0l 9 9efid 82
(A) SR

(B) <M

(C)

(D) g
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1. %ad (A). (B) 3R (D)
2.%ad (A). (B) 3R (C)
3. (A). (B). (C) 3R (D)

4.%dd (B). (C) AR (D)

Options :

68019145849. 1
68019145850. 2
68019145851. 3

68019145852. 4

Question Number : 39 Question Id : 68019111632 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to which school of Indian Philosophy the Vedas are authorless, eternal and infallible?

1. Samkhya

2. Nyaya

3. Buddhism

4, Purva-Mimamsa

Options:

68019145853. 1



68019145854. 2
68019145855. 3

68019145856. 4

Question Number : 39 Question Id : 68019111632 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR ERARRE D (69 W1 & 39R de [FdasH. [yd 3R Hu g |
A

Sl

9l 3

4. qd-HimT

Options :

1
2
3

68019145853. 1
68019145854. 2
68019145855. 3

68019145856. 4

Question Number : 40 Question Id : 68019111633 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Name the fallacy present i the following argument :
"Sound iz a quality. because it is visible.”

1. Anupasamhari
2. Satpratipaksa
3. Viruddha

4. Svarupasiddha

Options :
68019145857. 1
68019145858. 2

68019145859. 3



68019145860. 4

Question Number : 40 Question Id : 68019111633 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: Ei%ll@ﬂﬁﬁ JUTEe %Eﬂlimaﬂ:ﬂﬂ gqgy :
" Tep &0 § i g5 T B 1"
 SIEERI

RSP IRRE

fove

4. WEORIE

Options :

faa - —

68019145857. 1
68019145858. 2
68019145859. 3
68019145860. 4

Question Number : 41 Question Id : 68019111634 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following dharma states that moral obligation or commitment to perform a right
conduct 1s dependent on how an individual rightfully performs the conduct considering the
uniqueness of the given condition. and this act need not necessarily be mn adherence to any given
principle or value?

1. Varna dharma
2. Jari dharma
3. Svadharma
4. Apad dharma

Options:

68019145861. 1
68019145862. 2
68019145863. 3



68019145864. 4

Question Number : 41 Question Id : 68019111634 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e o 9 1 b1 o el ¢ fob el SR R & fou Aide &l U1 widegd o9
a1 R R el § o 31 oofd <1 g ufa ot faRan &) e 9 gl U TR 1 Ol
ﬂﬁéﬁ@%;%?m% SR 3H P Pl 3far = ¥ el fgid 21 o &t FarTaal & g
RIS el 07

1. 90 g

2. i e

3. @Y

4, 3G &Y
Options :

68019145861. 1
68019145862. 2
68019145863. 3
68019145864. 4

Question Number : 42 Question Id : 68019111635 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which philosopher states that "goodness 1s unconditionally good" and that it has the quality of
universalizability?

1. Kant

2. Bentham

3. Sidewick

4. Moore
Options:
68019145865. 1
68019145866. 2

68019145867. 3



68019145868. 4

Question Number : 42 Question Id : 68019111635 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

B T RIS Dol § [ "[H ¥ 0 Y H 5" 3R T8 o g9 Fraviftidar o170 o2

1. ®Ic

2. dym

3. filds

41
Options :
68019145865. 1
68019145866. 2
68019145867. 3

68019145868. 4

Question Number : 43 Question Id : 68019111636 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Some of the twentieth century philosophers who work on virtue ethics are also known, according
to their focus of study, as:

1. Neo-Platomist

2. Neo-Aristotelian
3. Neo-Pythagorian
4. Neo-Kantian

Options :

68019145869. 1
68019145870. 2
68019145871.3

68019145872. 4



Question Number : 43 Question Id : 68019111636 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sdl 2TaTed & T8 SRS Sl FeuT HRIRe TR BT R ¢, 0 HET-a
&Wﬁﬂai@ﬁlﬁﬂﬁﬁlﬁ%

1. Falwel e

2. gl sfeie o
3. FalgrgyrTiaE
4. L@

Options :

68019145869. 1
68019145870. 2
68019145871.3

68019145872. 4

Question Number : 44 Question Id : 68019111637 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII

Punishment equivalent to the grievance caused by the person | . |Deterrent punishment

=

To avoid future crime to be likely committed by other people | I |Preventive punishment

For solidarity and defense of the society at large. [I1. |Reformative punishment

ofo|w

Guided by the principle of rehabilitation. IV |Retributive punishment

Choose the correct answer from the options given below:

1. (A) - (I). (B] - (IT). (C) - (I1I), (D) - (IV)

2. (A) - (II). (B) - (I). (C) - (I). (D) - (IV)

3.(A)- (V). (B) - (. (O) - (IN). (D) - (I

4.(A) - (IV). (B) - (IlT). (C) - (I). (D) - (IT)
Options :

68019145873. 1

68019145874. 2



68019145875. 3
68019145876. 4

Question Number : 44 Question Id : 68019111637 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 %1 gdt 1 3§ e Sifon

g e I
A |cofed g1 U U &F & U9dcd 68 L [FaR® &8
B. |30 AT g1 Hia™ # fobT SH dTe 3Ry 9§ 59 & fog| 1 |FRIY® &
C. [ T9H R 9HIS B UdbTeral iR &7 & e 1L |GURTHD G 3
D. |qaiy & fgid gr e R IV. [vfa=ieTeT® &8
19 f&U U fowed! & 9 et SR I |

L. (A) - (I). (B) - (I). (C) - (III). (D) - (IV)
2. (A) - (III). (B) - (I). (C) - (II). (D) - (IV)
3.(A)-(IV). (B) - (I). (C) - (I). (D) - (III)
4.(A) - (IV). (B) - (IIT). (C) - (I). (D) - (II)

Options:

68019145873. 1
68019145874. 2
68019145875. 3

68019145876. 4

Question Number : 45 Question Id : 68019111638 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Virtue and character as primary attributes of ethics. [ |Consequentialism
Judgement of right or wrong through the result. I1. |Deontology

Ethical and value judgements as expression of feeling and artitude | IIL | Virtue ethics

ofa[w]s

Moral evaluation of a conduct based on rule and principles. IV |Emotivism

Choose the correct answer from the options given below:

). (B) - (I). (C) - (IV). (D) - (II
1). (B) - (TII). (C) - (I1). (D) - (IV
1. (B) - (I1). (C) - (IV). (D) - (III
II1), (B) - (IV). (C) - (I). (D) - (II

— p— — —
.

1.(A)-
2.(A)-
3.(A)-
4.(A)-
Options :
68019145877. 1
68019145878. 2

68019145879. 3

68019145880. 4

Question Number : 45 Question Id : 68019111638 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

QT 1 %1 g 11 9§ TaH sl
Gib T

A [Hifcrzmred H urifies o1 & w0 § S AR i I |aRumHa
B. |d & SHIYR W Fg! 31 7Terd I (01 I1. |G G- U4aTG
C. [¥aT AR AfHgfT @ sHf¥eiad & © H iR AR 5o Foig| . (e ire
D. [Fg 3R Rigid W 21eRd SR &1 Afdd Jedie IV, [damarg
1<l fe e foded & & 9gt SR |

1. (A) - (II0). (B) - (1). (C) - (IV). (D) - LII)

2.(A)-(I). (B) - (1II). (C) - (D). (D) - (IV)

3.(A)-(I).(B)-(II). (C) - (IV). (D) - (HI)

4. (A) - (III). (B) - (IV). (C) - (1). (D) - (II)

Options :



68019145877. 1
68019145878. 2
68019145879. 3

68019145880. 4

Question Number : 46 Question Id : 68019111639 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange these valid Moods in proper sequence

(A). FERIO

(B). CELARENT

(C). BARBARA

(D). DERII

Choose the correct answer from the options given below:

- (A). (B). (C). (D).
.(C). (B). (A). (D).
.(B). (A), (D). (C).
(C). (B). (D). (A).

|

e g

Options :

68019145881. 1
68019145882. 2
68019145883. 3

68019145884. 4

Question Number : 46 Question Id : 68019111639 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g4 oY HTHpRe sl &1 3fad ®H § ouafeud &9

(A) il
(B) Hdiic
(C) IRER]
(D) €35

-9 feu e fdeedl O 9 98t SR I |

.(A). (B). (C). (D).
-(C). (B). (A). (D).
.(B). (A). (D). (C).
4. (C). (B). (D). (A).

fad b —

Options:

68019145881. 1
68019145882. 2
68019145883. 3
68019145884. 4

Question Number : 47 Question Id : 68019111640 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"To see whether a hypothesis 1s true, derive some prediction from it. If the prediction is true,
then the hypothesis 1s confirmed. If the prediction is false, then the hypothesis is disconfirmed."
Which method does the above statement represent?

1. Hypothetical method

2. Hypothetico-inductive method
3. Hypothetico-deductive method
4. Hypothetico-scientific method

Options :

68019145885. 1
68019145886. 2
68019145887. 3
68019145888. 4

Question Number : 47 Question Id : 68019111640 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g GG & [Tt fo5 1 BTs TS 9 8. TG94 T8 Sfda Hald | 31¢ Sfdad 99 .
1 URe e 99 § | A1 SM1ber 3 8. Tl UReed 31q9 3
SRIad B [ ol o1 wiaRa Fxa g2

1. YhedTd S fafdl

2. Yheqi-d- AT fafdl
3. T eq - fafd)
4. Yo --aq-d Ay

Options :

68019145885. 1
68019145886. 2
68019145887. 3
68019145888. 4

Question Number : 48 Question Id : 68019111641 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the contradiction of proposition 'A' in the Square of Opposition?
Choose the correct answer from the options given below:

LA

. E
%
4.0

Options :

|

68019145889. 1
68019145890. 2
68019145891. 3
68019145892. 4

Question Number : 48 Question Id : 68019111641 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faRIe-atl & YT A’ BT AT 99T 87
-9 feu e faeedl O 9 |8t SR 3 |

|

A
S
|

L]

4.0
Options:
68019145889. 1
68019145890. 2
68019145891. 3

68019145892. 4

Question Number : 49 Question Id : 68019111642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the Nyaya system of Philosophy. in the production of knowledge. karana 1s:

1. The Extraordinary Cause (Asadharana Karana)
2. Ordinary Cause (Sadharana Karana)

. A Definttion (Laksana)

4. Wrong Knowledge (Aprama)

L]

Options:

68019145893. 1
68019145894. 2
68019145895. 3

68019145896. 4

Question Number : 49 Question Id : 68019111642 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T &2 YUMTel! & 38R, 11 & 3159 B, DRI 6:

HHTHRUT
CHTEROT R
. CT&{Ul

4, HYHT
Options :

fag b —

68019145893. 1
68019145894. 2
68019145895. 3
68019145896. 4

Question Number : 50 Question Id : 68019111643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |Avvapt [ |When the definition does not cover any element of the target set
B. |Ativyapti [I. |When the definition goes beyvond the elements of the target set.
C. |Asambhava [1I. |When the definition does not cover all the elements of the target set
D. |Laksana IV. |When the definition does not suffer from any fallacy

Choose the correct answer from the options given below:

1.(A)-(I). (B) - (II). (C) - (IIT). (D) - (IV)

2.(A) - (IIT). (B) - (II). (C) - (I). (D) - (IV)

3.(A)- (D). (B) - (IT). (C) - (IV). (D) - (II)

4.(A) - (II). (B) - (IV). (C) - (I). (D) - (II)
Options :

68019145897. 1
68019145898. 2
68019145899. 3

68019145900. 4



Question Number : 50 Question Id : 68019111643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 151 g 11 9 A $ifoe

GGll T
e 1. (S gfvurer d&g avf & el i @ & 2nfia T8l ddl &
Hfereamiey 1. |Sie GRS 80 o¥ & dedl § WSl &
IR I1L. [&ie URHTeT e ovf & a3 dcdl &1 ferd I8 didl &
& 1v. [S& afeum [t adhem O 9% 6l aldl &

RIEE

i< feu e fgeedl § 9 Het SR A |

- (A) - (). (B) - (II). (C) - (IIT). (D) - (IV)
- (A) - (III). (B) - (II). (C) - (I). (D) - OV)
(A) - (D). (B) - (II). (C) - (IV). (D) - (I1I)
- (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

|

e T

Options:

68019145897. 1
68019145898. 2
68019145899. 3

68019145900. 4

Question Number : 51 Question Id : 68019111644 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In Advaita Vedanta. in case of a tree, svagara bheda refers to:

1. The difference between its branch and fruits

2. The difference between the tree and the other trees

. The difference between the whole tree and its parts like fruit. flower. etc.
4, The difference between the tree and the land on which 1ts stands

Taa

Options :
68019145901. 1

68019145902. 2



68019145903. 3

68019145904. 4

Question Number : 51 Question Id : 68019111644 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
3gd daid H, U 94 & AMd H, Tid U gafiid &dl 8:
1. S T SR B SR
2. $H & 3R 31 &l & 0 3R

3. Jrquf g8 iR 39 ST oY Bd, Bd &g & A9 SR
4. J&f 3R 39 Y 59 IR 98 @318 & O 3R

Options :

68019145901. 1
68019145902. 2
68019145903. 3
68019145904. 4

Question Number : 52 Question Id : 68019111645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the Nyaya system. in the process of production of valid knowledge. vvapara stands

for:

That which 1s a cause but not an effect.
That which 1s not a cause but an effect.
That which 1s both a cause and an effect.
That which 1s neither a cause nor an effect.

s b2 —

:I;;

Options :

68019145905. 1
68019145906. 2
68019145907. 3

68019145908. 4



Question Number : 52 Question Id : 68019111645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ORI YIS & SR, 98 1 & Scia &1 Uichal H, SR &7 &Y §:

1. 98 Ol U BRUT § dfdh- U P ol o

2. 98 Ofl U% HRUI Tl dfcth UH B 6|

3. 98 Ol U% SR IR TS B <H 6

4. TESAT TS BRUE ARAE TS S B

Options:

68019145905. 1
68019145906. 2
68019145907. 3

68019145908. 4

Question Number : 53 Question Id : 68019111646 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The definition of knowledge as. "anadhigata-abadhita-artha-visayvaka-jiianatvam":

1. Includes both Memory and other valid sources of knowledge

2. Exludes memory and includes other valid sources of knowledge

. Includes memory and excludes other valid sources of valid knowledge
4. Excludes both memory and other valid sources of knowledge

(%]

Options:

680191459009. 1
68019145910. 2
68019145911.3

68019145912. 4

Question Number : 53 Question Id : 68019111646 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T @t GRS 3= JaTfed- - fAygs-gad & =9 5

1. |id SR & 39 a9 Al A1 Dl A Bl §

2. W4 P Sie™pd PRl © SR I D 39 98 Hidl B AT Bl §

3. W4 B T DRl § 3R 9Y JH & 30 9 Hidl bl gigSpd Il §
4. WA IR IH & 39 9y Yidl g4I ! afghd Bl &

Options:

68019145909. 1
68019145910. 2
68019145911. 3
68019145912. 4

Question Number : 54 Question Id : 68019111647 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Nimbarka. the three kinds of inanimate (matter) include:
(A) Aprakrta

(B) Prakrta

(C) Kala

(D) Dvesa

Choose the correct answer trom the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
. (A). (C) and (D) only
4. (B). (C) and (D) only.

L]

Options :

68019145913. 1
68019145914. 2
68019145915. 3

68019145916. 4

Question Number : 54 Question Id : 68019111647 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FTaTd & 3FER, diF YR & (oiia (uerd) T 2niid §:

(A) SHTHA
(B) HTepd
(C) Pldd

(D) &Y
A2 feu e fasedl & ¥ |5l SR A |

1. %ad (A), (B) 3R (D)
2. %ad (A), (B) 3R (C)
3.%ad (A), (C) 3R (D)
4. H4d (B), (C) AR (D)

Options :

68019145913. 1
68019145914. 2
68019145915. 3

68019145916. 4

Question Number : 55 Question Id : 68019111648 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which model of Logic does Sankara use?

1. Anvayva-Tyativeka
2. Anvaya

3. Watireka-Fatireka

4. Avyatireka-Samanvaya

Options :

68019145917. 1
68019145918. 2
68019145919. 3

68019145920. 4



Question Number : 55 Question Id : 68019111648 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR AP & [P TGl BT AN B g2

1. Fg9-AlNSD

2. =g

3. AldD-Alded
4, AT H-gH9-99

Options:

68019145917. 1
68019145918. 2
68019145919. 3

68019145920. 4

Question Number : 56 Question Id : 68019111649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sequence of the avayavas in a typical Nyaya syllogism 1is:
(A) Pratijiia

(B) Upanaya

(C) Hetu

(D) Nigamana

(E) Udaharana

Choose the correct answer from the options given below:

1. (A). (B). (C). (D). (E)
2. (A). (C). (E). (B). (D).
(E). (B). (A). (D). (C).
(C). (B). (D). (A) (E).

e faa

Options:
68019145921. 1
68019145922. 2

68019145923. 3



68019145924. 4

Question Number : 56 Question Id : 68019111649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Us fafRry <o <argarel ¥ sfaual & 9 o
(A) HfesT

(B) o414

(€)®d
(D) FAImE

(E) 3aTexul
- feu e fdeedl O 9 |t SR I |

_(A). (B). (C). (D). (E)
(A). (C). (E). (B). (D).
. (E). (B). (A). (D). (C).
(). (B). (D). (A) (E).

N o R

Options :

68019145921. 1
68019145922. 2
68019145923, 3

68019145924. 4

Question Number : 57 Question Id : 68019111650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s a Venn Diagram?

1. It 18 a chart that represents relationships of subject and object in the four types of
propositional statements.

2. It 18 an audio-visual representation of subject and predicate in the A and E statements.

3. It 1s an 1conic representation of categorical propositions, and of arguments. to display their
logical forms using overlapping circles,

4. Tt 18 a representation of the relationship of subject. predicate and copula in the categorical
propositions using overlapping circles.

Options :

68019145925. 1
68019145926. 2
68019145927. 3

68019145928. 4

Question Number : 57 Question Id : 68019111650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019145925. 1
68019145926. 2
68019145927. 3
68019145928. 4

Question Number : 58 Question Id : 68019111651 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following statements represent the nature of a probability judgement?

1. A probability judgement attributes a degree of probability to an event. to an effect, orto a
thing's having some property.

2. A probability judgement attributes a way towards certainty to an event, to an effect, and to
a thing's having some property.

3. A probabulity judgement highlights probable combination of truth or falsity of an event. an
cffect. or a thing.

4. A probability judgement highlights a degree of probability in a propositional statement.
Options :
680191459209. 1
68019145930. 2
68019145931. 3

68019145932. 4

Question Number : 58 Question Id : 68019111651 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019145929. 1
68019145930. 2

68019145931. 3



68019145932. 4

Question Number : 59 Question Id : 68019111652 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements 1s true of Causal Reasoning?

1. Deductive reasoning in which the first premise acts as cause for a consequent event as
effect.

2. Deductive reasoning in which some effect 1s inferred from what 1s assumed to be its cause.
but not the vice versa.

3. Inductive reasoning i which some effect 1s mferred from what 1s assumed to be its cause.
or some cause 18 inferred from what is assumed to be its effect.

4. Inductive reasoning in which some cause is inferred from what 1s assumed to be its effect
but not vice versa.

Options :

68019145933. 1
68019145934. 2
68019145935. 3

68019145936. 4

Question Number : 59 Question Id : 68019111652 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019145933. 1
68019145934. 2
68019145935. 3

68019145936. 4

Question Number : 60 Question Id : 68019111653 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

pogq
P What 1s the name of the above form of argument?
~q

1. Modus Ponens

2. Modus Tollens

3. Hypothetical Syllogism
4. Disjunctive Syllogism

Options :

68019145937. 1
68019145938. 2
68019145939. 3

68019145940. 4

Question Number : 60 Question Id : 68019111653 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
p2gq
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Options :

68019145937. 1
68019145938. 2
68019145939. 3

68019145940. 4

Question Number : 61 Question Id : 68019111654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Prepare chronology of four waves of feminism as represented by these feminists.
(A) Wendy Davis

(B) Mary Wollstonecraft

(C) Simone de Beauvoir

(D) Rebecca Walker

Choose the correct answer from the options given below:

1. (D). (B). (C). (A).
2.(C). (B). (A). (D).
3. (B). (A). (D). (C).
4. (B). (C). (D). (A).

Options:

68019145941. 1
68019145942. 2
68019145943. 3

68019145944. 4



Question Number : 61 Question Id : 68019111654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (D). (B). (C). (A).
2. (C). (B). (A). (D).
3.(B). (A). (D). (C).
4. (B). (Q). (D). (A).

Options:

68019145941. 1
68019145942. 2
68019145943. 3
68019145944, 4

Question Number : 62 Question Id : 68019111655 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among these belong to the school of political liberalism?
(A) 1. S. Mill

(B) John Rawls

(C) Isaiah Berlin

(D) Tom Bottomore

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :



68019145945. 1
68019145946. 2
68019145947. 3

68019145948. 4

Question Number : 62 Question Id : 68019111655 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. %ad (A). (B) 3R (D)
2.%ad (A). (B) 3R (0)
3. (A). (B). (C) 3R (D)

4.%dd (B). (C) AR (D)

Options:

68019145945. 1
68019145946. 2
68019145947.3
68019145948. 4

Question Number : 63 Question Id : 68019111656 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among these spoke of justice?

(A) Moritz Schlick

(B) Plato

(C) John Rawls

(D) Amartya Sen

Choose the correct answer from the options given below:

.(A). (B) and (D) only.
. (A). (B) and (C) only.
. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Ia =

L]

Options :

68019145949. 1
68019145950. 2
68019145951. 3
68019145952. 4

Question Number : 63 Question Id : 68019111656 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. ®dd (A). (B) 3R (D)

2.%ad (A), (B) 3R (C)
3.(A). (B). (C) R (D)
4. %ad (B), (C) 3R (D)

Options :

68019145949. 1
68019145950. 2
68019145951. 3

68019145952. 4



Question Number : 64 Question Id : 68019111657 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among these worked for the eradication of social discrimination and exploitation?
(A) Savitribai Phule

(B) Pertvar
(C) Ambedkar
(D) Tagore
Choose the correct answer from the options given below:
1. (A). (B) and (D) only.
2.(A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.
Options:

68019145953. 1
68019145954. 2
68019145955. 3

68019145956. 4

Question Number : 64 Question Id : 68019111657 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. %ad (A). (B) 3R (D)
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3. (A), (B). (C) 3R (D)

4. H4d (B), (C) AR (D)



Options :

68019145953. 1
68019145954, 2
68019145955. 3
68019145956. 4

Question Number : 65 Question Id : 68019111658 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Ambedkar, which text contams the first reference to the caste-system?

. The Bhagavad Gita
. The Manu Smrti

. The Rg Veda

4, The Mahabharata

Options :

d =

(%]

68019145957. 1
68019145958. 2
68019145959. 3
68019145960. 4

Question Number : 65 Question Id : 68019111658 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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4. HeTHRd
Options :
68019145957. 1
68019145958. 2



68019145959. 3

68019145960. 4

Question Number : 66 Question Id : 68019111659 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |Who were the Shudras? I |B. K. Ambedkar
B. |Religion of Man II. IM. K. Gandhi
C. |Hind Swaraj III. | Amartya Sen
D. |The Idea of Justice IV. |R. N. Tagore

Choose the correcr answer from the options given below:

(A) - (1). (B) - (I1). (C) - (II). (D) - (IV)
. (A) - (). (B) - (IIT). (C) - (II). (D) - (IV)
(A) - (I). (B) - (IV). (C) - (II). (D) - (IIT)
. (A) - (IIT). (B) - (IV). (C) - (I). (D) - (I)

fag B2 —

e

Options :

68019145961. 1
68019145962. 2
68019145963. 3

68019145964. 4

Question Number : 66 Question Id : 68019111659 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (). (B) - (II). (C) - (III). (D) - (IV)
2.(A) - (1). (B) - (). (C) - (II). (D) - (IV)
3.(A)-(1D). (B) - (IV). (C) - (II). (D) - (II)
4. (A) - (). (B) - AV). (C) - (I). (D) - (II)

Options :

68019145961. 1
68019145962. 2
68019145963. 3

68019145964. 4

Question Number : 67 Question Id : 68019111660 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who holds the view that "Eye for an eye will only make the whole world blind"?

1.R. N. Tagore
2.B. G. Tilak

.M. K. Gandlu
4. Vivekananda

(%]

Options :

68019145965. 1
68019145966. 2
68019145967. 3

68019145968. 4

Question Number : 67 Question Id : 68019111660 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019145965. 1
68019145966. 2
68019145967. 3

68019145968. 4

Question Number : 68 Question Id : 68019111661 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to B. R. Ambedkar. the shudras in India were originally:

1. Brahmanas
2. Ksatriyas
3. Vaishyas
4, Shudras

Options :

68019145969. 1
68019145970. 2
68019145971. 3

68019145972. 4

Question Number : 68 Question Id : 68019111661 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019145969. 1
68019145970. 2
68019145971.3
68019145972. 4

Question Number : 69 Question Id : 68019111662 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who 1s the author of the book Philosophy of Hinduism?

1. Swami Vivekananda
2. Dayananda Saraswati
3. B. R. Ambedkar

4. Sr1 Aurobindo

Options :

68019145973. 1
68019145974. 2
68019145975. 3
68019145976. 4

Question Number : 69 Question Id : 68019111662 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019145973. 1
68019145974. 2
68019145975. 3
68019145976. 4

Question Number : 70 Question Id : 68019111663 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A IM K. Gandli [. |Eeligion of Man
B. |B. K. Ambedkar II. JArgumentative Indian
C. |B. N. Tagore II1. |\ Navi-Taleem
D. |Amartva Sen IV, |Annihilation of Caste

Choose the correct answer from the options given below:

(A)-(I). (B) - (II). (C) - (IIT). (D) - (IV)
. (A) - (I). (B) - (IIT). (C) - (IT). (D) - (IV)
- (A) - (I). (B) - (I1). (C) - (IV). (D) - (IIT)
- (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

fag b2 —

i

Options :

68019145977. 1
68019145978. 2
68019145979. 3

68019145980. 4

Question Number : 70 Question Id : 68019111663 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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. (A) - (I). (B) - (1), (C) - (IIT). (D) - (IV)
(A) - (I). (B) - (IIT). (C) - (II). (D) - (IV)
(A)- (1), (B) - (1), (C) - (IV), (D) - (I1T)
(A) - (III). (B) - (IV). (C) - (I). (D) - (I)

|

e faa

Options :

68019145977. 1
68019145978. 2
68019145979. 3

68019145980. 4

Question Number : 71 Question Id : 68019111664 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following is the author of the book Freedom from the Known?

1. I. Krishnamurti
2. M. K. Gandli
. Sr1 Aurobindo
4. Dr. S. Radhakrishnan

Options :

s

68019145981. 1
68019145982. 2

68019145983. 3



68019145984. 4

Question Number : 71 Question Id : 68019111664 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. o pefd
2.0, &, il
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Options :

68019145981. 1
68019145982. 2
68019145983. 3

68019145984. 4

Question Number : 72 Question Id : 68019111665 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A M K. Gandhi [. |Nyaya and Nit1
B. |E. N. Tagore II. |Caste based discrimination
C. |B. . Ambedkar II1. |Sarvodaya
D. |Amartva Sen IV |Surplus 1n Man

Choose the correct answer from the options given below:

L.(A) - (D). B) - AV). (C) - (D). (D) - (II)
2.(A)-(I).(B) - (). (C) - (IT). (D) - (IV)
3.(A) - (). (B) - (II). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (IV). (C) - (IT). (D) - (I)

Options :



68019145985. 1
68019145986. 2
68019145987. 3

68019145988. 4

Question Number : 72 Question Id : 68019111665 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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. (A) - (D). (B) - (IV). (C) - (II1). (D) - (II)
(A)-(1). (B) - (IIT). (C) - (I). (D) - (IV)
(A)-(1). (B) - (IT). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (IV). (C) - (I1). (D) - (I)

REE
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Options :

68019145985. 1
68019145986. 2
68019145987. 3

68019145988. 4

Question Number : 73 Question Id : 68019111666 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among the following believed that democracy 1s the rule of mob and. thus. the worst form
of governance?

1. Socrates
2. Plato

3. Augustine
4. Mill

Options :

68019145989. 1
68019145990. 2
68019145991. 3
68019145992. 4

Question Number : 73 Question Id : 68019111666 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad 7 1 farger g o & dieda e &1 I8 3 3R 28 YR, I8 & 9l g
U

1. g
2. wiel
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4. i@

Options :

68019145989. 1
68019145990. 2
68019145991. 3
68019145992. 4

Question Number : 74 Question Id : 68019111667 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among the following argues that justice can be achieved only when "unfreedom' like
poverty. illiteracy. exploitation. etc. are overcome?

1. John Rawls

2. Ronald Dworkin
3. Amartya Sen

4. Jeremy Bentham

Options :

68019145993. 1
68019145994, 2
68019145995. 3

68019145996. 4

Question Number : 74 Question Id : 68019111667 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fraffad & S o a0 a1 8 [ T Haa ot v a1 o 9o & o TRIs, 3ife,
oy 3f1fe ot reRadEar IR 3oy e & ot o

BSIEES

2. IHIES gaiehH
3. 39 5
4.9, 6y

Options :

68019145993. 1
68019145994. 2
68019145995. 3

68019145996. 4

Question Number : 75 Question Id : 68019111668 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among the following argued that positive liberty and negative liberty are not merely two
distinet concepts, but these can be not only opposed but also be incompatible to a single political
ideal?

1. Bernard Williams
2. Jeremy Bentham
3. 1S Ml

4. Isaiah Berlin

Options :

68019145997. 1
68019145998. 2
68019145999. 3

68019146000. 4

Question Number : 75 Question Id : 68019111668 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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